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QUESTION NO: 1

What may be gained when registering more than one Integration Service to a single Repository Service?
A. Performance

B. Reliability

C. Redundancy to facilitate automatic failover

D. Ability to partition the sessions, assuming the partition license option has been purchased

ANSWER: A

Explanation:

Reference: http://dwhlaureate.blogspot.com/2012/09/what-is-intergration-service-in.html

QUESTION NO: 2

Which kinds of objects are stored in a PowerCenter Repository?

A. Mapping objects, sources and targets, workflow objects, operating system semaphores.
B. Mapping objects, sources and targets, workflow objects, workflow run information.

C. Source data, sources and targets, workflow objects, workflow run information.

D. Mapping objects, target data, workflow objects, workflow tasks.

ANSWER: B

QUESTION NO: 3

Complete this sentence Each operating system profile can have a different _?
A. Integration Service

B. Node

C. Process variable root directory

D. Log agent
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ANSWER: C

QUESTION NO: 4

Select the correct statement below regarding nodes

A. Each node must have a hostname set as a property of the node.

B. A minimum of two nodes are required for a running domain, one gateway node and one worker node.
C. Each node is running a service manager for each service on the node.

D. When a gateway node fails, the domain will shut down.

ANSWER: C

QUESTION NO: 5

A customer has purchased license keys for nodes running both the Windows and UNIX operating systems Can they run one
Windows node and one UNIX node?

A. Yes provided the nodes are in different domains.
B. Yes, if both nodes are within the same domain.
C. Yes, but this arrangement requires a PowerCenter Grid license to be activated.

D. Yes, but a primary service on one of the nodes cannot be configured to run as a backup service on the other node.

ANSWER: B

QUESTION NO: 6

The Informatica Administrator can configure an automatic email alert to notify failure of which types of objects? Assume that
service process failover is in effect.

A. Nodes, integration services, repository services.
B. Nodes and any domain service.
C. Nodes, integration services, repository services, workflows.

D. Nodes, any domain service, workflows.

ANSWER: A
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QUESTION NO: 7

Complete the following sentence A process variable root directory is associated with a _?
A. Node

B. Integration service

C. Repository service

D. Domain

ANSWER: C

QUESTION NO: 8

How are license keys obtained for Informatica products?

A. As a separate download.

B. Encoded on the install CD.

C. License keys can be generated on-site using the mfasetup.sh script.

D. License keys can be generated on-site using your product code and the informatica Administrator.

ANSWER: A

QUESTION NO: 9

Which of the following can be configured as the security protocol used for Domain Management?
A. SFTP (Secure File Transfer Protocol) or SSL (Secure Sockets Layer)

B. TCP/IP (Internet Protocol Suite) or TLS (Transport Layer Security)

C. SSH (Secure Shell) or SSL (Secure Sockets Layer)

D. SSL (Secure Sockets Layer) or TLS (Transport Layer Security)

ANSWER: A

QUESTION NO: 10
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A node has been selected in the Informatica Administrator Domain Navigator window. The Processes tab for this node
contains which of the following items?

A. All of the service processes and their statuses.
B. All of the workflows running on the node.
C. All of the service processes running on the node that are disabled.

D. All of the service processes running on the node that are enabled.

ANSWER: D
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